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MAT-SIM(Pre-test)

Title of the Research: A Study of Identification of Errors in Learning Integers and Its Alleviation

NAME e
School I L .
Gender : Q] Male ) Female

Medium : 4 Hindi £ English

Alternate Classes - J Coaching dJ Tuition

Community : (JUR (JOBC (JSC (OST
istructions:

1 The test is meant only for Research Purpose.

2. The details of the respondents will be kept confidential
3. All questions are compulsory

4 The Time of the test is 114 hours

'] Chose the correct options M: -
1. Which of the following is additive
inverse of 27 ?
A. 0 O
B. 1 O
C. =27 O
D. 72 O
The sum of two integers is —112.
If one of them is —109 the other
is?
A. =3
B. +3
C. 221
D. None of these
3. 2+8)+0="?
A. 0
B. 1
C. 10
D. Undefined
4. (=12) x8x5-2x30x12
A. 1824 CJ
B. =1200 (
C. -164 O
D. 200 O
5. How much -8 is less than -3 ?
A. 5 O
B. B.-5 O
C. C.11 O
D

Space for Rough Work:

[§]

1000

0000

¢ D=1l O

[11] State True or False. If false state

why: -
1. Division of any integer by zero is not defined.
2. Addition, Subtraction or Multiplication of two or more integer is always an integer.
3. 9% (8-7) = 9x8-9x7 indicates Distributive Property.
4. Temperature —43°C is greater than —12°C
5. Product of two negative integers yield negative integer.



] Match the following: - Space for Rough Work:

N. List-A S.N. List-B
.) | Successor of —11 () |49
g | =THE=T) 2) (-17

.) | Associative Property | (3) |-10

) [0=(2+7) @ |-24

A R S (0.

) | (=15+3) x2=2 (6) | (2+5) +4=2+(5+4)
7 |-14

] Locate the points —10, —1. 6 and 4 on number line: -

e, Sy WS W SN S W W V- SEe SUS—" ——" " W—— SE—"" W— V— —
(—?0-9-8—7-6-5-4-3-2-10123456?8910*

‘| Word Problems: -
I. A certain freezing process requires that room temperature be lowered from 40°C at the rate o7 5°C
every hour. What will be the room temperature 10 hours after the process begins?

Ans.

2. A tanker contains 500 litres of water. Due to small hole in the tanker, the quantity of water is decreasing
at the rate of 5 litres every hour. What will be the quantity of water in the tank after 2 days?

Ans.

3. A place is 50 metres above sea level and another place is 20 metres below sea level. What is the
difference of levels in metres between the two places?

Ans._

ime of the Researcher: Sudhanshu Sharma, Int. B.Ed.-M.Ed., RIE-NCERT, Bhopal




MAT-SIM(Pre-test)
vitg e : A Study of Identification of Errors in Learning Integers and Its Alleviation
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= fdor
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2. sreafef i g A el i
3. aftuy sifEd &
4, vltenHawmEty |LEee
e g vt o et foepes ] =3 (@ ) - T T I fem e
1. fTrifra 9 27 =1 ane sfaam s 2 2
A 0 O
B. | O
c -27 Q)
D. 72 O
2. e FAM -112 7 | A I E @ g
~109 ® a1 gatt we #2412t 2
A -3 J
B. +3 )
c. -221 O
D. T FE T O
3. (248)+0=2
A. 0 dJ
B. | O
C. 10 ]
D. syufearfyg ]
4. (=12) x8x5-2x30x12
A. 1824 O
B. -1200 a
C. -164 )
D. 200 ]
5. s e, 39 fEadt a0
A5 (]
B. -5 n
C. 11 )
o B § O
(11 He/37eed 2Id | Afe 37eeg & aF 41 Far; -
1. ot quter = vy & fennfora s srofvnfiva et )
2. A AF QUi F ATES, TTES AT TS HeF I B E |
3. 9% (8-7) = 9x8-9x7 foraur-3renh( F&7) ot FAT 2 |
4. AIUHH —43°C (HE), —12°C (@ee) ¥ s 2|
5. 3 SRS QU & AT § O4: FHTeAs: QT TR 2T 2 |




PRI S T e & for e ¢
i List-A SN. List-B
IR EC il () [+9
N 2 [-17
)| HEE e g 8 3) |-10
) | 0= (=2+T) 4 |-24
) —9- (+8) 5 |o
(-15+3) x2=? (6) | (2+5) +4=2+(5+4)
(7 | -14

HE W@ W10, -1, 6 3R 4 fagaii 1 saRea L - -

Word Problems: -
1. Ffera wefras sl @oer w3 i gfsmm) & fog smavas @ 7 40°C F@-aque #i 5°C 9199 1 & 8 T 9e 1 foham s |
ufzFa 3 7 B 3 10 52 THT(A1E) Fe-ATIHI F RN 2

I -

2. U FHLH 500 et art @ | T v o ¥ fog (@) F o, gt Fram s uf R A wm A w R 2 R ar dmdsw A
o fepet Bt 2

I -

3. U TTA(STE) R0 9 50 Hiet SR Ut galt S wE-ae o 20 der A @ | 2 v ¥ we sl | A, et § w@ wm?

I -

meff et AT gy I, TEFA FoTZo-THoTZo HofiToto, TRy arfirr FFHY Td Wfeor 9fteg (NCERT), saTe




Title of the Research

MAT-SIM(Post-test)

: A Study of Identification of Errors in Learning Integers and Its Alleviation

HIE i e e R e e s s 1 S S B S S OIS
ChoOl
iender ) Male - Female
Tedium Hindi O English
Jternate Classes - - Coaching O Tuition
‘ommunity : (JUR [JOBC Jsc ST
ructions:

| The test is meant only for Research Purpose.

2. The details of the respondents will be kept confidential

All questions are compulsory
4 The Time of the test is 1 hours
Chose the correct options : - Space for Rough Work:

[IT] State True or False. If false state

why: -

DR W =

B. 02

Which of the following is additive
inverse of 53?
A. 0

B. 11

C. =35

D. -53 CJ
The sum of two integers is —210.
If one of them is —109 the other
is?

A. -10

B. -101

C. =110

D. None of these
(56+52) +0=2?

A. 0

B. 1

C. 10

D. Undefined

(=17) x6x2-7x12x4
A. 1824

B. —1200

C. —164

D. -540

How much —22 is less than -2 ?
A 5

100

00

0000 D000

100

C. -20 :
D. -11 ()

Every integer is a rational number.

Addition, Subtraction or Multiplication of two or more integer is always an integer.
12x (16=7) = 12x16—12x7 indicates Distributive Property.

Temperature —107°C is greater than —170°C
Every negative integer is smaller than 0.




| Match the following: - Space for Rough Work:

N. List-A S.N. List-B
) | Successor of —13 (H |[+9
)| =12+(=7)+4 (2) |27

.) | Additive Property 3 |-12
)| (0+34)+ (=24+70) 4) |-24

Do | —19—-(+8) (5) |0
)y | (-1543) x2=2? (6) |2+4=4+2
(7) |-I15

'] Locate the points =9, =3, 10 and 4 on number line: - 4

<_-10-9-8-7-6-5-4-'3-2-‘[O123}456?8910

'l Word Problems: -
1. A Kamla has gone for a hiking trip.She ended a hike at an elevation of 5,000 feet above sea level. She
had started at an elevation of 5,000 feet above sea level. Which integer represents Kamla 's change in
elevation?

Ans.

2. The average temperature at the South Pole is — 45° F. The average temperature on the Equator is 92°
F. How much warmer is the average temperature on the Equator than at the South Pole?

Ans.

3. In a school exam. Rohan’s score was up to 500 points. Then he scored -100 points in the words
category. What was his score then?

Ans.

Name of the Researcher: Sudhanshu Sharma, Int. B.Ed.-M.Ed., RIE-NCERT, Bhopal



PUMTI

Title of the Research: A Study of Identification o

Name of the Teacher :........................

PrOFESSIONAl DEGIEE : ...vvvvveeeoioisasesess T
gc{mo{ T
Sencsler - EJ M.alc. D Female

ructions:

| The test 1s meant only for Research Purpose.
2 The details of the respondents will be kept confidential.
3 All questions are compulsory

.1 Generally in mathematics, Zero (0) 1s used to denote absence of anything. Therefore, in mathematics is there anything less than Zero,

"yes than what is it?

o | Tiftra & wrHT=E:, IE(0) T WA ot oft i i srqueteyar 2wt F fov e sman 2 | o, Mim d ym @ o Fw o A, AR A A Aw

ma? ‘

).2 In mathematics when any number is divided by the same number the answer is One (1), like 30+30 = 1. Hence, what is 0+0 (Zero

livided by zero) and why?
ro2 miftre & s fepelt e =it Ieft wre @ farfsra foram Smam & a1 SOwER(1) AT R, S 30+30 = 1 FAr @ | 37, 0--0 (Y[ FT o= ) H

FIT BT 2 U T 2

Q.3 Why dividing any number by zero is undefined?

o3 Freft s @t v=r g fenfre e sty w4t Aar @ 2




(.4 Elaborate the idea of Additive Inverse in mathematics. State its utility if any.

o TV & afrsreh St (Frhe) % fereme =Bt e 4 | et T A At i |

Q.5 In mathematics, Integers are denoted in ascending order on equidistant points of number line. Why are these points kept equidistant
number line? Also, state the utility of number-line in teaching-leaming process.

Yo, TIOTG , HEAI-T@T W U] 1 AT farg i W AT FH § T A 2 | S v g i wwey w an wwn ¢ 2 e, fra
yferme wisran & gen-rar #1 IuFifar #t 29w 1 |

=).6 Why the product of two negative integers is positive?
To& 21 UTeHF qUIehT FT TUAHe JATeqF #41 2T 2 2

Q.7 The number =3 is less than —3. but the temperature —5°C 1s colder than —3°C temperature. Why?
Tols TEAT -5, HEAT -3 ¥ B 29 ?). fF9 —5°C 1999 —3°C ANNR a MR 3921 2 | =) 7

Q.8 Division is done from left to right whereas multiplication is done right to left. Why?

Yo feraTsi ame & 2r <t 3 fara e # = om ard & =e i s 2 | w4 0

Name of the Researcher: Sudhanshu Sharma, Int. B.Ed.-M.Ed., RIE-NCERT, Bhopal



